1. If f(x) = 3x* — 2x3 + 5x + 2, find f(4)
a. Synthetic Substitution

H 2 -2 O 5 72
| 2 406 WO LLO
3 10 46 WS bL62
£ = L2

2. if gx)=4x>+23 +x2 -1, find (- 1)
a. Synthetic Substitution

-t |4 o 2 \ @}
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b. Direct Substitution

Seu) = a0yt =203 450D 2
= 3(250) - 2L +26 +72
T LR -12? + 204+
= L2

b. Direct Substitution

g 2 AEF £ 2607 - N -

S - - \ =\
-4 4 - 5 -5 AR
R v
4 -4 L -5 S5 .
8(-Nz=-0

3. Determine whether x -5 is a factor of x3 - 7x2 + 7x + 15. Then find the remaining

factors of the polynomial.

R |5

s -6 - S

‘ -2- -.3 o
x=5 & o Fadvr

& =TI FIX IS (- D2 —3D)
= (x-S)(x ~Bx+)

4. Show that x -2 is a factor of x> — 7x? + 4x + 12, Then find the remaining factors of

the polynomial.
. i =7 4 '
z =0 -2
I =5 ~L o

w2 - pUx *12 F (x-D(xr-ox- Lb

= |(x=2) (x= LY(x =) [a

2 All zeros

X22 G, =1
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5. Given that x + 2 is a factor of x3 ~ 3x + 2, find the remaining factors of the
polynomial.
2| & -3 2 xg-BX*'L=Lx+’DLx1-2.x+D
-2 4 -2
- NS
A 2 (x+D (x-D
. 31
2 \Qﬂ- (METR
/ = - [}
zeOS L X2~ K double zero
anad  xa-\ o XE
6. Givethat x-1 lsafactor of x*+2x3+2x2 - 2x - 3, find the remaining factors of the
polynomial.
. 3
L1 2 2 -n -3 X! *’2.%3 *2%1-2x-3 = (x-)(x - 3% +5x -\'53
3 5 31
I > 5 3 0
s
Iy 2 s 3 = DD (P2 03)|
=\ =72 -2 ;Tr\mt.

Review
Find each of the following:
a. Maxima ¥l
(2,2 » (2,3 #‘
b. Minima
(6,-D 3 (3.5-0.5) \L )
¢. Zeros l / i
(215,00 L0 (1.5,0) (3.25,0) \o x
d. Smallest possible degree of the function (3.75,6)
x> /
e. Sign of the leading coefficient g_; o
po> !
f. Domain
(-0, o8
g. Range

(-, co)



